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1. Use signal words to help identify cause and effect relationships in the text.

Shrinking Habitat of African Elephants

The human population in Africa has increased rapidly causing a

growing demand for farmland. This demand for land has caused
the natural habitat of elephants to shrink. As a result, elephants

have less space to roam, meaning they come into contact with

humans more frequently. Farmers’ fields and crops are often
disturbed by these wandering elephants, leading to conflict between humans and elephants. More often

than not, it is the elephants who lose this conflict. Logging and mining industries are also responsible for
the declining numbers of elephants. Both of these practices destroy elephants’ natural habitat, therefore,

making it more and more difficult for these animals to survive.

2. Show the cause and effect relationships you found in the text.
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The human population in Africa has increased rapidly causing a

growing demand for farmland. This demand for land has caused
the natural habitat of elephants to shrink. As a result, elephants

have less space to roam, meaning they come into contact with

humans more frequently. Farmers' fields and crops are often
disturbed by these wandering elephants, leading to conflict between humans and elephants. More often

than not, it is the elephants who lose this conflict. Logging and mining industries are also responsible for
the declining numbers of elephants. Both of these practices destroy elephants’ natural habitat, therefore,

making it more and more difficult for these animals to survive.

2. Show the cause and effect relationships you found in the text.
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